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#include <stdio.h>
int main()
{
intn;
float c, r, Value=0,Discount;
scanf("%d",&n);
R:canf("%f",&c);
canf("%f",&r);
for(int I=T;i<=n;iI=i+T)

{
Discount=1; )
for(int j=1;j<=i;j++) @+r)™
{
Discount=Discount/(1+r); —
}
Value=Value+Discount*c; n(n+1)/2
if(i==n)
{
[Value=Value+Discount*100;} ——
}
}
printf("BondValue=%f",Value);
return O;

}
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#include <stdio.h>
int main()
{
int n;
float ¢, r, Value=0,Discount;
scanf("%d",&n);
scanf("%f",&c);
scanf("%f",&r);
Discount=1; /

for(int i=T;i<=n;i=i+1)

| Discount=pow(1+r,-double(i)); «——
Value=Value+Discount*c;
if(i==n)

Value=Value+Discount*100;

}

printf("BondValue=%f",Value);

return O;

}

(155 R 2] O —Om)

#include <stdio.h>

int main()

{

int n;

float c, r, Value=0,Discount;
scanf("%d",&n);
scanf("%f",&c);
scanf("%f",&r);

Discount=1; ,/
for(int i=T;i<=n;i=i+1)

|Discount=Discount/(1+r);] «———
Value=Value+Discount*c;

if(i==n)

Value=Value+Discount*100;

}

}
printf("BondValue=%f",Value);

return O;

}

L A R ST
Zero Rate#rﬂ {55 [ETRsAE=

#include<stdio.h>
int main()

intl;

float ZeroRate[5]; n
float C;

scanf("%f",&C);

printf("f&@; * Zero rate:\n");

for( i=0;i<5;i=i+1)

scanf("%f",&ZeroRatel[i]);

}
float BondValue=0;
for(i=0;i<5;i=i+1)

float Discount=1;
for(int j=0;j<=i;j=j+1)
{

Discount=Discount/(1+ZeroRatel[i]);

BondValue=BondValue+C*Discount;
if(i==4)
{BondVaIue-BondVaIue+1 00*Discount;}

pr|ntf {}ﬁ % |§?T5‘-%f BondValue);
return O;

}
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— 4. Backward Induction
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void main()

{

inti;

/iy * Y]

IIF 5T %~ Wpvpayoff

float S,T.X,r ,Sigma;

int n; //HAg

printf(" ﬁij & J#’JE}FF?:");
scanf("%f",&S);

printf(" ﬁ?‘ Z[HHE");
scanf("%f",&T);

printf(" ﬁfﬁj‘ Fﬁﬁ]%]”r*‘
scanf("%f",&X);
printf("fiy 7 £5E @ F "),
scanf("%f",&r);
printf("fiar * A Jf}*fg}#iéfgw}
scanf("? )f’ ,&Sigma);
printf("fiar * HHE");
scanf("%d",&n);

double Array[500];

double CurrentS=S*pow(U,n);
for(int i=0;i<=n;i=i+1)

{

Array[i]=Max(CurrentS-X,0);
CurrentS=CurrentS*D*D;

}

/IBackward Inducfion

for(i=n-1;i>=0;i=i-1)

for(int j=0;j<=i;j++)
{

");

Array[j]=exp(-r*DeltaT)*(Array[j]*Pu+Array[j+1]*Pd);
}

}
I !
[printf(":2 A i1 =%" Array[0]); |

return O;

IIZF ETCRR™ 7 ifAfIRE 22 5y

}

double U, D, Pu,Pd,DeltaT;
DeltaT=T/n;
U=exp(Sigma*sqrt(DeltaT));
D=exp(-Sigma*sqrt(DeltaT));

u=(exp(r*DeltaT)-D)/(U-D);
Pd=1-Pu:

E[ 4% EP'I ﬂ\/k [,;F@j
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void main()

{
int i; N R
3 o I gy e~ Bfopayoff
//EIF'I LR double Array[500];
float S, T,X,r,Sigma; double CurrentS=S*pow(U,n);
int n; //BAEG for(int i=0;i<=n;i=i+1)

printf(’ ﬁ? #ﬂguqﬂ%}fﬁ
scanf("%f",&S);

REEA ﬁF I_ }
prlntf ﬁ?f' &gl') g , //Backward Induction

rray[il= Max(CurrentS X ,0);

scanf("y for(i=n-1;i>=0;i=i-1)
printf("fia * Fﬁq—!]%ﬁ*‘ {
scanf("9 /[

", &X); for(int j=0;j<=i;j++)
{

printf(“fia * SR @),

scanf("%f",&r);

printf("far * f2p Ji}*fg};f&ielzgw} ") }
scanf("9 )f’ ,&Sigma); kel

printf("fir * ¥15"Y; [printf(";2 & Erf=%" Array[0]), ]
scanf(" )d "&n); return 0;

//%ETCRR: 7o AR RE B2 B }

double U, D, Pu,Pd,DeltaT;
DeltaT=T/n;
U=exp(Sigma*sqrt(DeltaT));
D=exp(-Sigma*sqrt(DeltaT));
Pu=(exp(r*DeltaT)-D)/(U-D);
Pd=1-Pu:

Array[jl=exp(-rDeltaT)*(Array[|*Pu+Array[j+1]Pd);
¥
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double CurrentS=S*pow(U,n);
double CurrentProb=pow(Pu,n);

double OptionValue=0;
for(int i=0;i<=n;i=i+1)

{
OptionValue=OptionValue+exp(-r*T)*CurrentProb*Max(CurrentS-X,0);
CurrentS=CurrentS*D/U;

CurrentProb=CurrentProb*(n-i)/(i+1)*Pd/Pu;

}

12 Bk SRR b TR n e BT A
St ETH R [ .0(n)

o Hi YR
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— Overflow / Underflow problem

— ffi"]log EFr
double a=pow(0.1,1000)*pow(0.1,-1000);.
printf(“%lf’,a);

double a=exp(1000*log(0.1)-1000*log(0.1));
printf(“%lf”,a);
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— Iy Jpﬁ]?“ |%w FIJFﬁqﬁg}F‘) H( I%E#B«L)
— Array: cm%&: ?i’ﬁﬁﬁl Jll: Array[500][2];

“ IF JH%EMM : . (37-35)" = Array[*][0]>F fi 752 R S
6 L (37-34)" =3 Array[*][’l]%;lr%laﬁu %?F@ W‘
35 2 X — f& - WRYIETRS
075 35 (35-357=0 s Array[i][0]=Max(CurrentS-X,0);
u X (35-34)" =1 ' Array[i][1]=Max(CurrentS-B,0);
05 23 — [¥d¥Backward induction
' (33_%(4)+ 0 o SYHIHEE QT&’!TFUF}#*EA%[ T HEHpUELE! (See next slide)
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- Case 1: S<=H LSRR £ R SR S A AL
_ Array[i][0] > Useless . [ AR f‘ﬁ'ﬁ%ﬂﬁ" N
— Array[i][1]= PxV (P +qxV (Q1) o MRV AR A IR hEfE A I
C é Q<=H SR — LIRS AR (knock-out option)
e Case 2: Q<=R< — 7 L3 (knock-in option)
— Array[i][0]= m . - R AR B )
— Array[i][1]= % — Up option
— Down option

 Case 3.OtherW|se
_ Array[l][0]= pxV(P,0)+qgxV(Q,0)

R
—_ Array[|][1]: pr(P,l);qu(Q,l)

N HEE ENE(down-and-out option)

S(T)-X)* if S(t)>L Vte(0,T
payoff = (()( =0 i g(té?O,T) sftgsL)
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intmain() CRR barrier : Out option //Z} i i<~ #pYpayoff
{

inti,j;
[ * R

double CurrentS=S*pow(U,n); |
for(int i=0;i<=n;i=i+1)

float S,T,X,r,Sigma;

int n; //HAE

printf("fiay * BAVPIEIS:");
scanf("%f",&S);

printf("far * Z[UET");
scanf("Y ) .&T);

printf("fiw; * RS EAE");
scanf("%f",&X);

printf("fiay * e e
scanf("? ) ', &r);
printf("fiar * & lJ#’J[’F]’F‘?ELE*J}
scanf("Y )f‘ ,&Sigma);
printf("fir * BIEE");
scanf("%d",&n);

{
Array[i]=Max(CurrentS-X,0);
CurrentS=CurrentS*D*D;

I

if ( (((n-u_power)%2)==0) &&
(u_power>=-n) && (u_power<=n)) {

| Array[(n-u_power)/2]=0; |

/IBackward Induction
for(i=n-1;i>=0;i=i-1)
"); {

for(int j=0;j<=i;j++)

{

‘:Array[j]=exp(-r*DeItaT)*(Array[j]*Pu+Array[j+1 I*Pd

I/EL FICRR = v BffAfIRE 52 £y
double U, D, Pu,Pd,DeltaT;
DeltaT=T/n;
U=exp(Sigma*sqrt(DeltaT));
D=exp(-Sigma*sqrt(DeltaT));
Pu=(exp(r*DeltaT)-D)/(U-D);
Pd=1-Pu;

}

if ( (((i-u_power)%2)==0) &&
(u_power>=-i) && (u_power<=i)) {

| Array[(i-u_power)/2]=0;

1

It e | 3Pt B

}
N [

int u_power;

printf( TSI i ="%T" Array[O]);

u_power= (int)floor(log(H/S)log(U)); | return 0;

TR
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* Black-Scholes Formula
* CRR tree
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)
#include “CRR.h”
|nt main()
double CRR(float,...); {
i double CRR(float S, float T...) [ | - InOptionValue=
Int main() { T ——Away[0-CRR(S,T...)
—>
float S,T,X,r,Sigma;
int n; /g
print‘f("ﬁ‘ :[Qﬁﬂ#a@ﬁ,:") } }
}

SRS £

I'JCRR s 7 fEf [t {5 A
(S=95,X=100, T=1,volitility=25%,r=10%,H=90)
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int main()
{

inti,j;
[ * R

double pu=1/(2*lambda*lambda)+
(r-Sigma*Sigma/2.0)*sqrt(dt)/(2*lambda*Sigma);
double pd=1/(2*lambda*lambda)-

float S,T,X,r,Sigma;

int n; //HAE

printf("fiay * BAVPIEIS:");
scanf("%f",&S);

printf("far * Z[UET");
scanf("Y /’ .&T);

printf("fiw; * RS EAE");
scanf("%f",&X);

printf("fiay * e e
scanf("? ) ', &r);

prlntf(gu’j‘ lJ}"JE?F‘iEL?*J} ");

scanf("%f",&Sigma);

printf("fiar * H57:");
scanf("%d",&n);

(r-Sigma*Sigma/2.0)*sqrt(dt)/(2*lambda*Sigma);
double pm=1.0-pu-pd;

15§ e~ #pupayoff

double Array[1000];

double CurrentS=S*pow(U,n);

for(int i=0;i<n+Lindex;i++)

{
Array[i[=Max(CurrentS-X,0);
CurrentS=CurrentS*D; ‘

‘:’Array[n+Lindex]=O; ‘

//IBackward Induction

nei e

for(int j=n-1;j>=0;j--)
{ inti=0;

double dt=T/n;

double tmp = log(S/L)/(Sigma*sqrt(dt))

int Lindex = (int)floor(tmp);

double lambda=tmp/Lindex;

double R=exp(r*dt);

double U=exp(lambda*Sigma*sqrt(dt))

double D=1/U:

for(i=0;i<Min(j+Lindex,2*j+1);i++)

rray[i]=(pu*Array[i]+pm*Array[i+1]+pd*Array[i+2])/W

| if(i==j+Lindex)  Array[i] = 0; ‘

//g?w 7 N
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int main()
{intij;

double Max(double a,double b){ float S,T.X,Lr,Sigma;
if(@>b) return a; CCrmi gt  tan y
else return b; zggrt]ff((f}. f’éy%@ﬁ )
} printf("fi * Z{#1} 1:");
scanf("%f",&T);
double Round(double a){ printf((..ﬁgj Fl.ﬁ;?gl,%w...).
if(a-floor(a)>=0.5) return ceil(a); scanf("%f", 8X): i~ &
else  return floor(a); freg s

printf("fs * RBEES:");
} scanf("%f",&L);

printf("fi * R fa "),

double Pu(double h,double k wopfm Q.
' ’ scanf("%f",&r);
doubl=e S_,lgr.na,d(*)u.ble r{ _ printff(':'ﬁf'); fgf@@ﬁwa%:u);
return  (Sigma*Sigma*(k/(h*h))+ SN

alpha*alpha*(k*k/(h*h))+alpha*(k/h))/2;
} double h = 2*(log(S/L));

double lambda = 3.;
double Pd(double h,double k, P . *Qi *Qi * *
double Sigma,double r){ int n= (int)Round((lambda*Sigma*Sigma*T)/(h*h

) o double k = T/n;
double alpha = r - Sigma*Sigma/2; lambda = (h*h)/(Sigma*Sigma*k);
return (Sigma*Sigma*(k/(h*h))+ S = L*exp(h); '

alpha*alpha*(k*k/(h*h))-alpha*(k/h))/2;
} double R=exp(r*k);

double pu=Pu(h,k,Sigma,r);
double pd=Pd(h,k,Sigma,r);
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doubll—:“CArr[SOOOO]; f&(int i=0;i<3;i++)
double tempArr[3]; {
NT FTe i~ Wipupayoff B tempArr[i] = CArr[j+i];
IEE T = 7ty L:g‘fw"‘,‘- U= ‘”7 }
InS') ‘ I/* |appraochArr s fHf= = 7 A5t InS' ™ (7 ‘/‘fll
double CurrentS=S*exp(n*h); for(int jj=0;jj<4;jj++)
for(int i=0;i<n;i++) {
{
EFETRS 5 M‘.“i""‘f“‘rw'qw( “HnS')

CurrentS = S; ‘
for(int i=n;i<n+2;i++)

{

CAtrr[i] = Max(0,CurrentS-X);
CurrentS = CurrentS*exp(-h/pow(2,i-n+1));

}
double pu2,pd2,pm2; A= TR N = = R AR
for(int i=1;i<3;i++)

/lbackward induction { /ltempArr[0] I S+ 5]
for(int j=n-1;j>=0;j--} | CArrj+(i-1)] ='tempAri]; |

IRTETE = 7 R83(% BInS R aeif }

for(int i=0;i<j;i++){ }

CArr[i]=(pu*CArr[il+pm*CArr[i+1]+pd*C | /i 11 11
Arr[i+§])/R; printf(" ™ [EifE 155 R Eﬁrﬁﬁ/of',CArr[ﬂ);
}
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An Overview of bBTT

A double barrier options with barriers
Hand L
— Simple: (2 parts) (R LA A
* 1-time-step trinomial tree
* truncated CRR tree Heline
— Flexible:
* adjustment of cell width (height)
* position of the grid
* Hit both barriers s
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To Deal with Single-Barrier Options
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An Overview of BTT

Construct bBTT
The Underlying Grid

Step 1:
A discrete barrier option . t to build up an n-step
, : a If wewant to build u - AA AL At
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Construct bBBT Construct the bBTT
The Trinomial Structure =~ Derive the Branch Probabilities

Step 2: [ B ol B 4

a ChoosenodeA, B, C at timeAt’to
make P, , P, ,and Fi valid.

b. The mean and variance of log-
stock pricefrom Sat  At’

In%:(r ~0.507) At'+ odW,,

Let 4 =(r—oc?/2At'
¢. Wechoosetheonly nodeliesin
lu-oVat u+o/at) asB
B=f-u o=p+20/At

L-line -

y =B —20 /At |l

99

By matching mean and variance and
summing 3 probabilities to be one, we can
solve R, R, ,and R .

Pa+P f+Py=0

Pa’+P f2+P y*=Var
P+P +P =1
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Construct the bBTT

Branch Probabilities are Valid!

a [ 7
det=| o B2 4 |=(B-a)(y—a)(y-p) <0,
1 1 1

det, = (87 + Var)(y — B),
det,, = (ay + Var)(a —7),
dety = (o + Var)(8 — a).

Thus, P, = det, /det, P,, = det,,/det, and P; = dety/det
Verifv that P... P... Py > 0.

Construct the bBTT

Branch Probabilities are Valid!

Show that detu, detm, and detd <0 instead.

By 4+ Var(At') = 32 —28cVAL +alAt = 52— 280 AL+ P At = (B — oV AN 2 0,
a7y + Var(At') = 32 —do’At+ oAl < 87 —do? At + 207 AL = 57 — 207 A1 < 0,

af + Var(At') = B2 +280VAL +a?At = 52 + 280V AL + 02 At = (F + oA 2 0,
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double C=ceil(LogH-LogL)/(2*v*sqrt(t))); Mean=(r-0.5"v"v)"TriDeltaT;
t:pow((LogH_LogL)/(Z*V*C)’Z)’ double Var=v*v Tr|De|taT,
n=floor(T/t)-1;
double TriDeltaT=T-t*n S=H/exp(v*sqrt(t)*LogSPrice);
double Mean=log(S)+(r-0.5*v*v)*TriDeltaT; double Alpha=log(S/OriginalS)-Mean;
double LogDistance=(LogH-Mean)/(v*sqrt(t)); S=S*pow(d,2.0);
int Nstep; double Beta=log(S/OriginalS)-Mean;
if(n-int(n)>0.5) Se S pow(d.2 0?-( ginalS) ’
NStep=int(n)+1; s
else NStep:Sin?(‘;).m (n)1: double Gamma=log(S/OriginalS)-Mean;
double Shift; ‘ /ICompute branching probabilities
double LogSPrice; double Det=(Beta-Alpha)*(Gamma-Alpha)*(Gamma-Beta);
if(NStep%2==0) double Pu=(Beta*Gamma-+Var)*(Gamma-Beta)/Det
{ /leven step double Pm=(Alpha*Gamma+Var)*(Alpha-Gamma)/Det;
if(fmod(LogDistance,2.0)>1) double Pd=(Alpha*Beta+Var)*(Beta-Alpha)/Det;
olse Shift—s(;l-lft_1‘ Log Distance double DBOptionValue=exp(-

LogSPrice=int(LogDistance)+Shift-2; H—o—— 0 r(;"(;'jﬁggé C()Ero(sggr?\f};i'zggilxm OptionValue[1]+Pd*OptionValue[2]);
gse 1 r*TriDeltaT)*(Pu*OutOptionValue[0]+Pm*OutOptionValue[1]+Pd*OutOptionValue[2]);
{ // odd steps 2

if(fmod(LogDistance-1,2)>1) Mean pd 3

Shift=1;
else Shift=0; 4

LogSPrice=int(LogDistance)+Shift-2;

}
S=H/exp(v*sqrt(t)*LogSPrice); 6
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